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&1 EAMET

PClass Age
1st:322 Min.
2nd:280 1st Qu.:
3rd:711 Median :
Mean
3rd Qu.:
Max.

Sex
0.17 female:462
21.00 male :851
28.00

: 30.40

39.00
71.00

NA's : 557.00

Survived

Min. : 0.0000
1st Qu.: 0.0000
Median :0.0000

Mean :0.3427
3rd Qu.: 1.0000
Max. : 1.0000
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FEFE
o p; = Pr(Y,=1)
o EREETIL?

Pi = B1+BoXptBaXa+B,X4i( + &)

0 AEY,ER:0<p <lICREINTLNSMD,
ZZN
o pi/(1-p))
o EIRETIL?

Pi /(1- p;) = Br+BoXptBaXaitBs Xy ( + €)
O L], B p/(1-p) > 0 ISBEESATNAMD,
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%t #1Av X (logit)
0 1og p; /(1- p) = By +BX5tBaXgtBaX,i ( + &)
#Yl, B -« <log p; /(1- p) <
0 BSHADE
Pi=
exXP(B+B2Xoi+B3X5i+BaX 1) {1+EXP(By+B X5+ B3X5i+ B X )}
o EIFFRBOHEEIL?
5
0 AEE#OKRKXIE




SERETIVOHE

7] e i =

PriY,=y,Y,=V,,....Y. =y.) (y,=0o0r1)
=Pr(Y, =y, )Pr(Y, =y,)---Pr(Y. =y.) (independence)

Note: Pr(Yi = Yi): p” (1_ P; )l_yi

= Q- p) " @-p,) - p, )

exp(,B’1 + [, X, +---+,BpXip)
1+exp(,31 + 5, X, +---+,Bpxip)
=L(s, B,. s Boi Vs Yareees y.) (CEERI%)

Note: p, =
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> titanic. glm <- glm(Survived~PClass*Sex+Age, family=binomial,
data=titanic.df)
> summary(titanic.log.glm)

Call:
glm(formula = Survived ~ PClass * Sex + Age, family = binomial,
data = titanic.df)

Deviance Residuals:
Min 1Q Median 3Q Max
-3.0869 -0.6453 -0.4643 0.4599 2.3346
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R2: ATy IEIROHE A (DDF)

Coefficients:

Estimate
(Intercept) 4.845505
PClass2nd -1.486038
PClass3rd -4.038030
Sexmale -3.702774
Age -0.044854

PClass2nd:Sexmale -0.089869
PClass3rd:Sexmale 2.256406

Signif. codes: 0 “** 0.001 ***0.01 *"0.05°.70.1 * "1

Std. Error
0.598061
0.587018
0.544289
0.507177
0.008179
0.656052
0.581805

Z value

8.102
-2.532
-7.419
-7.301
-5.484
-0.137

3.878

Pr(>|z])
5.41e-16 ***
0.011357 *
1.18e-13 ***
2.86e-13 ***
4.16e-08 ***
0.891043
0.000105 ***
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=3 —HRIEMEETILOH B

> titanic.gam <- gam(Survived~PClass*Sex+s(Age),
family=binomial,data=titanic.df)
> summary(titanic.gam)

Family: binomial
Link function: logit

Formula:
Survived ~ PClass * Sex + s(Age)
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R3:—BIEMEETILOHE A (DDF)
Parametric coefficients:

Estimate Std. Error z value Pr(>|z|)
(Intercept) 3.3929 0.4865 6.974  3.09e-12 ***
PClass2nd -1.4112 0.5966 -2.366 0.018005 *
PClass3rd -3.9049 0.5473 -7.134 9.72e-13 ***
Sexmale -3.6979 0.5115 -7.229 4.87e-13 ***
PClass2nd:Sexmale -0.1029 0.6646 -0.155 0.876905
PClass3rd:Sexmale 2.2687 0.5858 3.873 0.000108 ***

Signif. codes: 0 *** 0.001 ** 0.01 ** 0.05°.”0.1°’ 1
Approximate significance of smooth terms:

edf Ref.df Chi.sq p-value
s(Age) 3.385 4211 38.23 1.32e-07 ***

Signif. codes: 0 *** 0.001 *** 0.01 ** 0.05°"0.1 "1
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